Soustraction (E)

Calculez la différence.

716 638 467 897
—-19 =8 =75 =66
345 590 283 334
—48 =8 =63 =T
437 668 255 907
9% =62 =91 =286
473 473 454 329
-8 =42 =43 =9
965 370 291 446
=80 =77 =60 =35
888 675 331 818
-38 =81 =33 =42
889 528 256 616
-—9% =50 =41 =24
514 979 471 778
—41 =78 =62 =18
410 914 703 445
—-15 =44 =37 =50
268 762 332 637
=33 =59 =99 =49

139 202 675 137 932 901
-7 =54 =49 =719 =38 =44
143 611 915 399 295 272
-91 =24 =4 =49 =71 =42
526 150 693 333 939 970
-3 =36 =4 =39 =81 =252
923 612 658 772 150 723
—28 =32 =84 =98 =39 =25
775 904 851 525 686 994
-—94 =69 =22 =70 =82 =53
826 597 363 812 425 623
-50 =10 =49 =71 =61 =93
604 992 252 816 872 523
—106 =8 =7 =71 =13 =387
771 47 795 019 298 398
—62 =46 =96 =40 =78 =96
655 845 593 441 739 567
—40 =64 =56 =81 =58 =60
825 577 489 831 860 277
-1 =8 =79 =57 =20 =098
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